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B-2519

B. Se. (PartI) EXAMINATION, 2018
MATHEMATICS -
Paper Second
(Calculus)

Time : Three Howrs ] [ Maximum Marks . 50

e : o ve afad ¥ | T g A 2 4 g B | W
qe & e T €
All questions are compulsory. Solve any nvo parts of
each question. All questions carry cqual marks.
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By using €-8 method, prove that :
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bog(l e« an) = lop il - Ary
b

The function J(vt » i ey

delinest a1 ¢
J (a) at »

¢t -0%

< 0 What value should be Asimned
* 0. %0 tha ot decomes continuous at
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Find the general term in the expansion of the I‘iull.minj_.

function f{x) = Jogle Ve | by the Maclaunin's

theorem
Y0lg—2
(UNIT—2)
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e+ 2y -2kl 0
Fd all the asvmptotes of the fallowing cune :
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" s y’ ey
prove that for the ellipw 51— +2c el pe o

heing the length of the perpendicular finm the centre
(0, 0) upon the tangent at the point (x. 5}

() sﬁnﬁﬁm}mmwmmﬁmﬁmu
,u:fag?flmm.‘g[lﬂzrmt:

y w3 - 40} + 3x - 20

Find the intervals for which the following curve aré

concave upwards of downwrds :
y =3 - 405’ +35-20
3HE—3

(UNTT—3)

3. (5) = A

I ! - e
(sinx ¢ sin 2x)

Find the value of :
."—*—f—-—— o
(stnx + 5in 2x)
(W) Rig e
LE Nsin x
0 Kinr + Jeos v 73
PProve that :

J’ 52 Jsin x

i}

dv = &
Jsinx + Jeos x 4
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Fi:n! the common amea enclosed by the
3 = dav and a7 = doy,
= -
(UNIT—1)
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Parabgj,

< ¥ Faaifar:

dy 4 y(x + Wdy =0
Salve :

t‘zdj' “plx+ e =0
) S o s T g a2 g e

s |+ cos()

WO T T, @ T 1 v 8

I-‘Erfd lh.r: equation of the system of ortho
trajectonies of a system of confoca] and Coaxil

. 2a .
parabolas r = 13 conp® @ 15 PARAmeter of system,

‘ﬂ) gﬂi‘ﬂﬁﬁ,’ :
x:_{fi{ dy
e —r-{E+}' =2logx
Solve ;
rfzy d
PoETXC by =2logx
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Solve the following differential equation by changing
the independent variable :

d?y dy

—z.+ cotx==+ 4ycosec’x =0
(@) g faor @ RRY & o9 FR:
. .
4Y | 4y = 4tan2x
did
Solve by method of variation of parameters -
2
i%’-ny— 41an 2x
ﬁ; -

(6) P=fafm A = Fw
—‘h—+x=y+c'

d.
—.'-+_v'-'-r+t‘

d ]
Solve the following =
& L xs y+e
ot
-;;‘L*- y=x+¢
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